Mower - Model 04054

gn Replaces Toro Greensmaster 800 Parts
’ Groomer Drive System - Model 04134

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Mower - Model 04054

Rﬁ JR Replaces Toro Greensmaster 800 Parts
~g®™  Groomer Drive System - Model 04134

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

32152-2,

70 R32152-2 Jul-06

Nut-Lock, Cone 2

71 R251-327 251-327 Bearing - Groomer Reel 4

72 R121-4600 121-4600 Locknut - 3/8-16 Hx HD Jam Nylon Ins 1

302-11,
302-19,
302-4,
32-8170

73 R700414 Zerk - Grease 1/4-28 45 Deg 1

21-6010,
302-11,
302-37,
302-47,
302-5,
302-57,
73 R302-5 302-58, Fitting - Grease 1

302-6,
31-0300,
32-9660,
60-0800,
62-3880,
92-4181

74 R150690 108-0989 Screw - Set 1/4-20 x 1/4 1

75 R458006 32151-61 Ring - Retaining 1

107-8844,
76 R237-22  237-22, O-Ring 1
237-78

3274-24,
77 R3274-52 3274-52, Screw - Soc HD Cap Scr 2
52-5890

78 R119-4040 119-4040 Nut - 1/4-20 Fl Locknut 2

21-7710,
79 R32121-15 32-8880, Pin-Roll 1/4 x 1-1/2 2
32121-15

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




R JRB Replaces Toro Greensmaster 800 Parts
pmﬁcfﬂ Mower - Model 04054
~g®™  Groomer Drive System - Model 04134

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

01-178-0605,
18-4100,
19-8270,
80 R400260 323-3, Bolt - Hex HD 3/8-16 x 7/8 2
323-33,
323-34,
323-5

81 R3290-455 3290-455 Washer - Belleville 2

82 R3296-49 3296-49 Locknut-1in 14 2

3296-4,
83 R3296-4  3296-43, Locknut - ESNA 5/16-24 3
65-9360

01-189-0518,

83 R444754 3296-4

Locknut - 5/16-24 Center 3

30-3380,

32127-21,

32127-31,

3290-160,

84 R3296-25 3290-33, Locknut - 1/2-13 Heavy ESNA 1

3296-13,

3296-25,

3296-45,

329645

85 R3254-8 3254-8 Washer - Lock 1/4 Int Star Z 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




